Exercise 090306

The topic is Factor Analysis

Assignment 1

1) Explain the difference between the matrices
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2) How can we test the hypothesis
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3) What are the differences between the two fit-measures Chi2 and RMSEA ? 

4) Explain the constructs validity and reliability!

Assignment 2 (Soft ware: LISREL)

Use the Political Efficacy case:

Campel et al. (1954): Political Efficacy is the feeling that individual political action does have, or can have, an impact upon political process.

Observed (measured) variables:


NOSAY: People like me have “no say” in what the government does

VOTING: Voting is the only way that people like me can have “any say” about how 

the government runs things.

COMPLEX: Sometimes politics and government seem so complicated that a person like me cannot really understand what is going on

NOCARE: I don’t think that public officials care much about what people like me think

TOUCH: Generally speaking, those we elect to Parliament lose touch with people pretty quickly

INTEREST: Parties are only interested in people’s votes but not in their opinions

Treat the variables as continuous

1) Do a data screening 

2) Compute a covariance matrix for the observed variables

3) Estimate the models in the table with ML, GLS and ULS.

4) Is it possible to re-specify  model 2 to get a better fit?  

1 = Strongly agree, 2 = Agree, 3 = Disagree, 4 = Disagree strongly, 8 = Don’t know and 9 = No answer.

Table 1: Two models

Model 1


Model 2
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Use the data set in the file: Efficacy2005.psf

_1162629319.unknown

_1162629364.unknown

_1203147549.unknown

_1162629395.unknown

_1098460186.unknown

_1114174105.unknown

_1098460197.unknown

_1098462908.unknown

_1098460067.unknown

_1098460086.unknown

_1098459957.unknown

